Name:

Be a Math Wizard and Solve the Crossword Puzzles!
Puzzle Page 4

Solve the Subtraction Crosswords

Y134l - |12 - | 9| = “lo6| - |10] - | 9| =
T 2l-(21=1 1 [ol-Tel-Tal=]
sl lel-l21=11 [sl-12]-Tsl=-1"
*l39| - | 5| - |16] = “lag| - |11] - [13] =
slolal-l71=11 [el-Tel-Tz]-1
2l lal-lal=11 [ml-Ts-Tz]-1

Don't forget to check your work!
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1. 2.

34| - 12| - | 9| =13 26| - [10| - |9 |=|7
T 12l-l21=a] [w]-lal-Tal=1=
ol lel-lz21=Ts] [s]-12]-T3-I=
al-Tal-Tsl=12] [7]-Is]-[1]1=]
*l39| - | 5| -|16|=|18| *|38|-|11|-|13|=]14
sl lal-l71=17] [al-1al-T2=Iq
2l lal-lal=Ts] [ml-1s]-T2-I¢
2l Tal-Tsl=s] [w]-lal-|7]=]3

Don't forget to check your work!
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